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2 [sinh( ()] = cosh(f () f/(x)
% [cosh(f ()] = sinh(f ()« f(x)

% [tanh(f ()] = sech?(f ()« f(x)
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% [esch(f (x))] = —esch(f ())coth(f ()« f(x)
% [sech(f(x))] = =sech (f (x))tanh(f (x)) * f'(x)

%[coth(f(x))] ==csch?(f (x))* f'(x)

f(x) = sinh (x %) 4l alal diiie s ; Qb
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f'(x) =2 x cosh (x?)

f(x) = 2 sinh x + 4 cosh x AUl Alal) d&ida o ; Jba



f'(x) = 2 cosh x + 4 sinh x

f(x) = cosh x / sinh (x?) &l sl e o : Jla
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F'(x)=[h(x) g'(x) - 9g(x) h'(x) ]/ h(x)*

= [ (sinh x?) (sinh X) - (cosh x)(2 x cosh x?) ]/ (sinh x?)?
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V =s'(t) = t* - 6t +9

a(t) = v'(t) =2t—6
4=2t—6

2t=10 —sy t=5



V(5) = (5)* - 6(5) + 9=25-30+9=4m/sec
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v(t) = s'(t)=3t°- 12t + 9 N
v=0
3 e deils 3t°—12t+9=0
P —4t+3=0
(t-3)t-1) =0 —> t=3,t=1
t=3,t=1 ic Caigaual
A(t) = v'(t) = 6t — 12
a(3) = 6(3) — 12 = 6 m/sec?
a(l) = 6(1) — 12 = -6 m /sec®
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y—1=_?1(x—2)+y=—%x+§+1
=X
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y = Ln sinx



